M8x20 - 1x
M8 - 1x PP8 - 1x

M10x30 - Bx <
M12x30 - 4 ; _
M12:?D-E:[A} .'@ MI10 - 2x PP10 - 8x MI10Z/17 - dx
M12x90 - 2x (1) . M12 - éx (A, 1) PP12- 6x (A, 1)
M12x19 - 4x (C) M12 - 4x (C) PP12 - 8x (C)

DETAIL

L 80 ‘P(R)

= T --I'H“"Frlr--wr;' s

< 8!
120 | | 40

102/17 e

M10x30

M12x70 - 2x

hM12x70 (10.9) - 2x ]

110 Nl M10x30 CITROEN C3 AIRCROSS
| A 03 Kod: CO735(A.1,C) 31. 10. 2021 A




